0002046453597999

&0 IBAKE 0—e2o

2014 4F REFF (REFF. &30 806 (BDE) - 332 (A%—v) ®1M [ #0H /o5y

L | ko2 | 7 |~ 2 | U TEFIEE-ERA2HATL.

20 .3
(1) 1.6" > 10000 % iifi /= ¢ /N O EER n DI TH3d. 772U, logy 2= 0.3010 373[5

(2) B sk [ fOdt =22 — 6z —2a + 16 £ WETE ¥, ER a0l [T] T2,

(3) 42XV AEFEMHI BT 2L &, TRTOINI A0 HOBA R B HERIT THhb.

() (D =U3X 32 ilir+r %, rollik [T ] eH5.2  IT 5

(5) 20Dtz + 2 +3=0% 3z +y—2=0057f 01 [F 1 E3 TR PP Ay

(6) 1+V3in 2 kAR 22 tar+b=00r %5 %, a=[74 |, b=[F% | Thd. 2#L, a, b
EEHTHY, (IREREME TS, - cy

(1) 2Ky = —322 075 7% T WA 1, y WAL 2 7 1 VBB 7B SRAD Y =
32+ pr+qisn. corx, p=[2 16 q=[F ] t»s.

)R, I, K, K, Y, 006 HOXFIATEM—FUAASY %, RATEDEMIHY, HOIAY LY
B 53 & > BAASH B THD.

60
M (5) & nlogol.6 >4
S s 2.4t 4 £19.6 ~nh=20
Q"ﬁm% 4hgio2-1  4%0.3010-1 “”
2) @il X TFRLALT,
f(x)= 2x-6
: j’( 2t-¢ dt = [ch—e,ﬂ: = -ex-d'+6a
a
C-pttba = ~20% 16
R-ga+16=0
(a~-4y=0 -~ 0=4
@3 6Pa - &
8
e+ I
X . -
(4') 3‘?2'(‘_1 3’5"'21 s/l 3 = G-2% SoA=2 . :
TO.V\P’ ‘{ ﬂ.ho(.. \"‘\n o
(5) x+29+3=0 4:&3—— ,3x+'4 2z0 - 1<BF-3
{
tanf-tand -3 13
.'_'t—n’ 9: "'d,): - - ! B E
20 tan(p et o2 .




0002046453597999

&lo—O AT 0—et>

2014 % RV (REFF, £31)- BUG () - 332 (RK—Y) B1M 2428/ 2%%

1| kol [7 ]~[T ] mUTiE B R AT L.

(1) 1.6" > 10000 % jii7= ¢ /N DB n O THd. 2L, logp2=0.3010 £ 5.

@ W (@) 0K [ f(Ddt =1 — 60— 20+ 16 &AL S, M a Ol b3,

(3) 45DX 0T BEAI T2 &, FRTO TN 50 HOBA RS 5 skl b 5.

(4) (V3)' =243 X 3% &= T ¥, Ol TH 3.

(5) 2oDEMr+2y+3=0L3r+y—2=004T 0L THd. 127U, 0505 L rv3.

(6) 1+t 2 RABR 22 +ax+b=0DRE %2 %, a=[F |, b=[F | Chd. ~£L, a, b
BEBTHY, (IIEEELE TS,

(1) 2REHy = =322 DI T 7% x WA 1, y I 272 EABEIL 2o Rty =
—Bt + po+ gl B8, TDEE, p=[F |, g= Th5.

@R LK K Y, OD6HOXFIRTEM-FNINARZEE, ROTLDEMIHY, HoIAY &Y
A3 & 5 RS BYTHB.

L FH 02 T0T
(6) £ B E3 1-3{ t AR o300, A% Yo Mgy,

—a=1+y3i+ 1=-Vv3L , b=C+GO-E)

fe=-2, b=4

7

) -3(x~1)"+2= -325+6x~1|

G AR¥l s reBilT. pse, §= |

7

@ R.I,Y ¢t RAURXF X7,
X, X. %X, K. K.O o A H1T,

$aper, XEAENS, R,IY ¢ FhEEn




